
 

   

 

 

 

 

 

 

 

  

  مثلثات

  

 ������ ����	  

�
�� 
� �� ���� �� �� ����� � ���� ��� ����� ����� 
� 
  !������ �� �� !����� "�����# $���%.    �'(�)� *)�� ��� +�,-� �� �.�


�/�( 0��'� 
  1�� �2���� ��  
3��4� $�5'6���7 !��/ 
� �� �-.  

  های مثلثاتی نسبت

��� 
�ˆxOy ,���8� �9: �� ��� ;.< �� �� . =�5:A  �B  �C  >�� ��Ox  �)� ���-��?@ =�5: 0	 �� � 
'(�% �9: ��Oy     $)�� 0�)AB

��  C�� 
  $�A Oy  =�5: �� ��A′ "B′  �C′ ,AA  C2D.  

  

  

  

  

  

� 
E�F ����� 

��
'� $- �� G,�	 ��E� 
� ���� 
� 
    ",:�)  �)��� �� 0	 ",A<�� ����� �8�� ����� �� 
���� �� �� ����� �� 
���� �� G�%�-


��
'�,:� (1<�� $�-��J:  

AA OA AA BB
O A A O BB

BB OB OA OB

AA OA AA CC
O A A OCC

CC OC OA OC

∆ ∆

∆ ∆

′ ′ ′
′ ′ ⇒ = ⇒ =

′

′ ′ ′
′ ′ ⇒ = ⇒ =

′

∼

∼

   


2��� 
� 
E�F �� �� 
9L�� M�( >�-  ,�A 
AA

OA

′
 "

BB

OB

′
   �

CC

OC

′
  
���� 
� �5( � ,:����� $- ��O 0	 ���� N�O 
: ",:��� �8'6� . 

������D: $P�D ���� ��  
���QR�ABC  �%�Â= 090  C�� ",<��AC  ��»
���� ;��5� C��  >B « C�� �AB  ��»   
)���� ���)W� C�)�  >

B «�� ��:$�. 



 

0�?- �� 
  ��O X�: 0	 ;��5� 
���� �B�  +�L �� �� C�� �- ���� �� $�:�� �� >��Y% ,AA .  

  

   

 

Z�A�� ���� ��
  

 

[��\F: $P�D ���� ��  
���QR�(C ) ABC=
090 
���� ;��5� C�� N�O 136: "A  �� �F� 
�»
���� Z�A��  >A «��  �� � $���:sinA  

�� 0�
: $�-� .������A�:  

  

a
sinA

c
= =

                                  
   

   

� YF:  G��L 
���� >��� M�( [��\F 
� 
E�F ��A $���� G���?- :sinA< <0 1   

  

  
 

 

N���:  ;.< 
� 
E�F �� "�����
���� Z�A�� $�-��JA 
���� Z�A�� �B $����� ��.  

 $���� Z��7���( 
2��� �?  
�:  

    a a a+ = ⇒ = − = ⇒ =
2 2 2 25 13 169 25 144 12   

  

$���� [��\F �?  
� N�L:  

  

a
sinA

c
= = =

12

13

                             
  

  

b
sinB

c
= = =

5

13

                             
   

  

� YF: 0�?- ��,: �8'6� 
���� 0	 ���� 
� 
���� �� Z�A�� G��,:� $�,�� 
  ��OG��,:� 
� �5( � ���� �8'6� 
���� 0	 >) . 
2��� c3O

���� 
��
F �-(  

���� �� Z�A�6 
  

[��\F :$P�D ���� ��  
���QR�ABC  
?P�D 
���� ��C
���� ���W� C�� N�O 136: "  >A  �� ���� �F� 
�» 
���� Z�A�6 A «��   $���):

 ��?: �� �� 0	 �cos A �� 0�
: -�$� .������A�:  

  

b
cosA

c
= =

                                        
  

  


'.::  G��L 
���� >��� M�( [��\F 
� 
E�F ��A  $���� G���?-cosA< <0 1.  

� YF: ���� 
��
F 
� 
E�F �� ;3D ,A:�� G��,:� 
� �5( ���,: �8'6� 
���� ���� 
� Q�: 
���� �� Z�A�6  �- ���� �8'6� 
���� 0	 >.   

 


���� ;��5� C��  >A  

�F� N�O  

 ;��5� C�� N�OA  

�F�  

 ;��5� C�� N�OB  

�F�  


���� ���W� C�� N�O  >A  

�F� N�O  
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N���:  ;.< 
� 
E�F ���� "��� 
���� Z�A�6  $�-��JA  
���� Z�A�6  �B $����� ��.  

  

   

  

$���� [��\F �?  
�:  
  

 

cosA= = =
8 4

10 5

                                    
  

  

cosB= = =
6 3

10 5

                                   
  

  

N���:  ��� ;.< �� �%�cosA /=0 8  "���� ���� N�O ",<��sinA  �cosB ,����� �� .  

  

  

  

e��#:  

b
cosA / b= = ⇒ =0 8 4

5
  

a a a+ = ⇒ = − = ⇒ =
2 2 2 24 5 25 16 9 3  

cosB / ,sinA /= = = =
3 3

0 6 0 6
5 5

  

���� �� 1:�f:�F
  

[��\F :$P�D ���� �� 
���QR�  >ABC  
?P�D 
���� ��C 
���� ;��5� C�� N�O 136: "A  N�)O 
�    
)���� ���)W� C�)�  >A  ��»  1):�f:�F


����  >A «�� �� �� 0	 � $���:tan A  ��tgA �� 0�
: $�-� .������A�:  

  

        
a

tan A
b

= =
                                      

  

  

  

 G��L 
���� >��� M�( [��\F 
� 
E�F ��A  G���?-tan A>0 ��� ,-��J.  

N���:  ;.< 
� 
E�F ���� "��� 
���� 1:�f:�F $�-��JA 
���� 1:�f:�F �B $����� ��.  
  

$���� [��\F �?  
�: 

 

 

  

   tan A= =
15

8

                              
  

N�O  
���� ;��5� C��A 

N�O  
���� ���W� C��A 

N�O 
���� ���W� C��  >A  

 �F�  

N�O 
���� ���W� C��  >B  

 �F�  

N�O  
���� ;��5� C��A 

N�O  
���� ���W� C��A 



 

  

  tan B= =
8

15

                             
  

N���:  �%�tan A= 2  ���� G,< 
'���J ���� N�O ",<����� ,����� ��.  

  
e��#:  

x
tan A x

y y

= ⇒ = ⇒ =

⇒ = + = + = ⇒ = =
2 2 2

2 2 6
3

6 3 36 9 45 45 3 5

  

  

� YF: ���� 
��
F 
� 
E�F �� G��,:� "�- G��,:� 
� �5( "���,: �8'6� 
���� 0	 ���� 
� Q�: 
���� �� 1:�f:�F > ���� �8'6� 
���� 0	 >.  

���� �� 1:�f:�' 
  

[��\F :$P�D ���� ��  
���QR�ABC 
���� ��  
?P�D >C
���� ���W� C�� N�O 136: "  >A 
���� ;��5� C�� N�O 
�  >A  1:�f:�'  ��

 
����A ��  ��?: �� �� 0	 � $���:cot A  ��cotgA �� 0�
: $�-� .������A�:  
  

  

b
cotA

a
= =

                             
  

  
  

  

  

N���:  ;.< 
� 
E�F ���� "��� 
���� 1:�f:�'  $�-��JA 
���� 1:�f:�'  �B $����� ��.  

  

  

  

  
  

$���� [��\F �?  
�:  

  

   cot A= =
8

15

                              
  

  

  cot B= =
15

8

                             
  

  


'.:: 0�?- � 
  ��O�� G,-�
 1�� 
���� 0	 1:�f:�F Z�.\� "
���� �� 1:�f:�'  ,�A  .������A�:  

cotA , tan A cot A
tan A

= =
1

1         


E�F: $P�D ���� �� �� 
���QR�!��3@ �� �� �- 
�  >�-sinα "cosα "tanα �cotα  »136:  
���� �F����� >�-α «�� ,A��%.  

N�O  
���� ;��5� C��B 

N�O  
���� ���W� C��B 

 N�O 
���� ���W� C��A 

 N�O 
���� ;��5� C��A 

 N�O 
���� ���W� C��A 

 N�O 
���� ;��5� C��A 

 N�O 
���� ���W� C��B  

N�O  
���� ;��5� C��B  
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3��4� 136: > 
���� �F����� >�- $�� >�-  

[R� (
3��4� 136: >  
���� �F����� >�-045:  

$P�D ���� "���,: �'�?-� C�� N�O 
  �E 0	 ��  
���QR�ABC 
���� ��  
?P�D >C  �':�)� �� 
?P�D ���� �   �)'��  ,)���8� �)9: �� � .  �)�

$���� g��7���( 
�hD 
� 
E�F:  

AB AB= + = ⇒ =
2 2 21 1 2 2   

  

  

  
  

136: N�L  
���� �F����� >�-A  �� ����� 
 45 �� 1�� 
� �� 1�� 
E�� $���	:  

BC AC
sinA sin cosA cos

AB AB

BC AC
tan A tan cot A cot

AC BC

= = = = = = = =

= = = = = = = =

0 0

0 0

1 2 1 2
45 45

2 22 2

1 1
45 1 45 1

1 1

         

   

i (
3��4� 136: > 
���� �F����� >�-  >�-030   �060:  

>��6'� ����  ���� 
� �@��j�2 �':�� ,���8� �9: �� �� �'� . ���� ��� ��J�� >�����060 1�� . ���F��AH   $)�� ���� ��� �� ��

�� �� "$�A     >��)6'� �)��� �� $�):��   ��� ��)�F�� "��)�j�     $�): � 
):��� "C�)� �)- �)� �    �)� Q)�: ��)�  ,)<�� .  
)W�': ��BH=1   �

ˆBAH= 030 .     

  

  

  

  
  

 ���� �� g��7���( 
�hD c3O N�LAHB $����:  
  

BA AH BH AH AH AH= + ⇒ + = ⇒ = ⇒ =
2 2 2 2 21 4 3 3  

  

�� N�L 136: $�:��F �F����� >�- 
����>�-ˆBAH= 030   �B̂= 060 $����� ��:  

  

                         

BH AH
sin cos

AB AB

BH AH
tan cot

AH BH

= = = =

= = = = = =

0 0

0 0

1 3
30 30

2 2

1 3 3
30 30 3

3 13

   

  

                         

AH BH
sin cos

AB AB

AH BH
tan cot

BH AH

= = = =

= = = = =

0 0

0 0

3 1
60 60

2 2

1 3
60 3 60

33

   

$���� 
W�': ��:  

  



 

060  045  030  
θ      

       136:>�- �F�����  

3

2
  

2

2
  

1

2
  sin θ  

1

2
  

2

2
  

3

2
  cos θ  

3  1  3

3
  tan θ  

3

3
  1  3  cot θ  

  

N���: !��3@ ;/�L ,����� �� ��� >�-.  

A (sin sin )(sin cos )

sin cos
B

tan

= + −

=
−

0 0 0 0

0 0

2 0

30 45 30 45

30 60

1 30

   

e��#:  

A (sin sin )(sin cos ) ( )( )

sin cos
B

tan
( )

= + − = + − = − =−

×

= = = = =
−

−−

0 0 0 0

0 0

2 0
2

1 2 1 2 1 2 1
30 45 30 45

2 2 2 2 4 4 4

1 1 1 1
30 60 92 2 4 4

3 61 30 3 11
9 93

×

3

4 6
=

2

3

8

  

N���: ;.< 
� 
E�F �� ,����� �� N��W� ����5� ��� >�-.  

  

  

  

  

  

                                                            )i)                                                                        ([R�  (  

e��#:  

)[R�  

sin x
x

= = ⇒ =
0 4 1

45 4 2
2

   

y
cos y= = ⇒ = =

0 1 4 2
45 4

4 2 2 2
  

       )i  

          
AH

sin AH= ⇒ = ⇒ =
0 1 1

30 5
2 10 2
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z
cos z

AH
sin y

y y

= ⇒ = ⇒ =

= ⇒ = ⇒ = =

0

0

3 3
30 5 3

2 10 2

3 5 10 10 3
60

2 33
 

  

136: $?'� 
���� �� �F����� >�-: $P�D ���� 
� G�����  
���QR�ABC 
���� �� 
?P�D >C   
���� �� ���� ��� �� "$���%��A � B   $?')�

,:�8�,.�.  

$���� 
���� �� ��� >���:  

a a
sinA ,cosB

c c
= =   

  

�� ������A�  1�% 0��FsinA cosB=$���� k�F�F ��?- 
� ":  

b b
sinB ,cosA

c c
= =   

 
W�': ��cosA sinB=.  

  


'.::  G��L 
���� >���θ $����:  

cos sin( ) , s in cos( )θ = −θ θ = −θ
0 090 90      

�� k�F�F ��?- 
� � 
���� 0	 $?'� Z�A�6  �� 1�� ����� 
���� �- Z�A�� �8�� !��3@ 
�  �� 1�� ����� 
���� �- Z�A�6  1�% 0��F


���� 0	 $?'� Z�A��.  

N���: $���� :  

sin cos( ) cos , cos sin( ) sin= − = = − =
0 0 0 0 0 0 0 060 90 60 30 15 90 15 75         

N���:  !��3@ >�,@ ��,5�
sin sin sin

A
cos cos cos

=

0 0 0

0 0 0

5 10 15

85 80 75
 �� 1�� �����:  

sin cos( ) cos , sin cos( ) cos= − = = − =
0 0 0 0 0 0 0 05 90 5 85 10 90 10 80       

sin cos( ) cos= − =
0 0 0 015 90 15 75   

������A�:  

sin sin sin
A

sin sin sin
= =

0 0 0

0 0 0

5 10 15
1

5 10 15
   

  

  دایره مثلثاتی: درس دوم

 �F����� G����" G���� 1�E >� ,L�� ��\< 
� ��� 1��  . �� 
���� �- �,'�� G���� ��� ��OA    c)32A� �)5(� �2D 13�� 1�E �A\� 1)��  

 �%�P 
��5@ 1�E +�J �� G���� ��� >�� 
���� ",A  1 �L 1@�� >�-AOP  13�� �%� �P 
��5@ 1�E �� G���� ��� >��  >�)-

 
���� ",A  1 �L 1@��AOP 1�� ��A�.  

 CD�� ��
��5@ 1 �L m.@ 1�E �� G���� 1�E �� 1@�� >�- ,<��.  

  

  

  



 

N��� :
���� "�F����� G���� >�� >�-−
090  "090  "0135 "−

0120  0�
: ����$�-�:  

  

  

  

  

  

  

  

  

  

  

  

  

  

  
  

  

  

  

 

G���� ,���8� �9: �� �� ��� �F�����" $P�D ���� �� 
���QR�OPQ136: " 
���� �F����� >�-θ  ��� !��/ 
��� 1�� 
�,�	:  

  

  

  

  

PQ y
sin y

OP

OQ x
cos x

OP

PQ y
tan

OQ x

OQ x
cot

PQ y

θ = = =

θ= = =

θ= =

θ= =

1

1
  


'.:: ��4�x �� �-Z�A�6  ��4�  � �-��4�y �� �- Z�A�� ��4�  �-��$���:. �%�  =�5: ��B,A $�� �F����� G���� �� Z�?� �� "


� =�2J $�A  ��� ,A-��J 1:�f:�'  � 1:�f:�F >�-��4� k�F�F 
� G,�	 1��.  
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136: ��� >�-
���� >��>�- 00 " 090 "0180 "0270  �0360   

,���8� �9: �� �� ��� �F����� G����:  

  

  

  

  

  

  

  

 �%�θ =
00  
25: G�8:	P  
25: >��A( , )1 0 �� ���D$���� !��/ ��� �� ���%:  

sin y sinθ = ⇒ =
00 0  

cos x cosθ = ⇒ =
00 1  

y
tan tan

x
θ = ⇒ = =

0 0
0 0

1
  

G,
: [��\F
x

cot cot
y

θ = ⇒ =
0 1

0
0

  

 �%�θ =
090  
25: G�8:	P  
25: >��B( , )0 1 �� ���D$���� !��/ ��� �� ���%:  

sin y sinθ = ⇒ =
090 1  

cos x cosθ = ⇒ =
090 0  

G,
: [��\F
y

tan tan
x

θ = ⇒ =
0 1

90
0

  

x
cot cot

y
θ = ⇒ = =

0 0
90 0

1
  

 �%�θ =
0180 : G�8:	 
25P  
25: >��C( , )−10 �� ���D$���� !��/ ��� �� ���%:  

sin y sinθ = ⇒ =
0180 0  

cos x cosθ = ⇒ =−
0180 1  

y
tan tan

x
θ = ⇒ = =

−

0 0
180 0

1
  

G,
: [��\F
x

cot cot
y

−
θ= ⇒ =

0 1
180

0
  

 �%�θ =
0270 	 
25: G�8:P  
25: >��D( , )−0 1 �� ���D$���� !��/ ��� �� ���%:  



 

sin y sinθ = ⇒ =−
0270 1  

cos x cosθ = ⇒ =
0270 0  

G,
: [��\F
y

tan tan
x

−
θ= ⇒ =

0 1
270

0
  

x
cot cot

y
θ = ⇒ = =

−

0 0
270 0

1
  

 �%�θ =
0360  
25: G�8:	P  
25: >�� G�����A( , )1 0 �� ���D136: !��/ ��� �� ���% �F����� >�- 
����0360  
���� ��00  �����

����<.  

$���� 
W�': ��:  

  

0360  0270  0180  090  00  
θ  

       136:>�- �F�����  

0  −1  0  1  0  sin θ  

1  0  −1  0  1  cos θ  

0  G,
: [��\F  0  G,
: [��\F  0  tan θ  

G,
: [��\F  0  G,
: [��\F  0  G,
: [��\F  cot θ  
 

 

 1��@136:  �F����� >�-  ���- C�� ���B �F�����  

�� ��� >��6F �?  
�136: 1��@ $�:��F$�A  �,�# �� �F����� >�-:  

sin y

cos x

y
tan

x

x
cot

y

θ =

θ =

θ=

θ=

  

X���B C��  

x , y> <0 0  

X�� C��  

x, y<0  

X�� C��  

x , y< >0 0   

N�� C��  

x, y>0   
��,5�  

−  −  +  +  sin θ  

+  −  −  +  cos θ  

−  +  −  +  tan θ  

−  +  −  +  cot θ  

N���:  �%�θ 
���� � ,<�� �F����� X���B C�� �� >�cosθ =
2

3
  "136: ����  
���� �F����� >�-θ ,����� ��.  
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e��#:  

 cos xθ = =
2

3
  

  m#P
25: 
� >� N�O
2

3
 1�� . 
25: n�@ N�LP $P�D ���� �� Z��7���( 
2���  �?  
� ���� 1�� 
�  
���QR�$���	:  

x y ( ) y y y+ = ⇒ + = ⇒ = − = ⇒ =±
2 2 2 2 22 4 5 5

1 1 1
3 9 9 3

   

 
25: 0�BP  � ��A� 0	 n�@ m# ���� ���D X���B 
�L�: �� y=−
5

3
 1�� N�3D ;��D.  

$���� N�L:  

sin yθ = =−
5

3
  

y
tan

x

−

θ= = =−

5
53

2 2

3

  

x
cot

y
θ = = =− =−

−

2
2 2 53

55 5

3

  

136: !����oF 
���� *��Q(� 
� 136: �F����� >�-  

 ;.< 
� 
E�F �� "���G��,:� 
� ���� �� �- �F� �F� ������A� "1�� G���� ��\< > 1�� 0�6.� ���� �� .   �� 
)���� *��Q)(� �� N�Lα1  
)� 

α2 0�?- �� G,-�
� 
  ��O   �)� $)  ���W� C�� N�O � ���� ;��5� C�� N�O ,�A   ��)< .       �)R� ��)�� 
)���� �)�� Z�A�)� ������)A�

�� $  0	 Z�A�6  ��< .  

  

  

  

  

  
  


'.:: � 0,< ���� ��
���  G��L >α �� "00   �F090p�Q� 
���� 0	 Z�A�� ��,5� " �� �'?  0	 Z�A�6  ��,5� �R� �F ��<.  

sin sin ,cos cosα >α ⇒ α > α α < α2 1 2 1 2 1   

 ;.< 
� 
E�F �� "j��0	 ��� N�O 136: 
���� �� 1:�f:�F 
  �E 1)�� 
���� 0	 ���W� C�� 
� 
���� 0	 ;��5� C� .    �� 
)���� *��Q)(� �)�

α1 
� α2 0�?- �� G,-�
� 
  ��O �� *-�  ���W� C�� N�O � ���� ;��5� C�� N�O ,�A   ������A� ",���1:�f:�F �� *��Q(� ,���.  

  


'.:: � ��,5� *��Q(� ��
���  >α  ��00   �F090 p�Q� 
���� ��� 1:�f:�F ��,5� �� �F ��<.  

 tan tanα >α ⇒ α > α2 1 2 1   

 



 

N���:  ;.< ����� 
����  >�-035  �020 �G���� C�� � G,< $�� �� ��\< 
� >�  >�,@ ��,5� ",:�cos 020   �cos 035  ��?- �   ��)O

 ��,5�sin 020  �sin 035 ,�A  
6��5� $- �� ��.  

  

  

  

  

e��#:  

  

OB OB
cos OB

OA

OD OD
cos OD

OC

D cos cos

= = =

= = =

⇒ <

0

0

0 0

20
1

35
1

35 20

 

Ο < ΟΒ

   

AB AB
sin AB

OA

CD CD
sin CD

OC

CD AB sin sin

= = =

= = =

> ⇒ >

0

0

0 0

20
1

35
1

35 20

 
   

  

  

 
2��� �J k�< �� :�f:�F
���� 1  

 �Jd  ;.< �� �� ���  ��4� 13�� 1�E �� 
  ,���8� �9: ��x
���� �-  >α �� ���� .
25: �- >A   �B      �)9: �� �)J �)�� >�� ��


25: �� ",���8�  >B  ��4� �� >���� �2Jx
25: �� � �-  >A � �2J ��4� �� >���yG��  $�� �- $�� .  

0�?- �� 
  ��O $���� ������A� G,< �O �5(� 1(�6� 
� ���F�� ���oF 136: �� 1�� ����� �J �� k�< ",�:�� :
AC

m
BC

=.  

  

  

  

  

  

  

  

  

  

$���� �(�O �� :  

AC
tan B

BC
=   
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">���� � i��� =�2J 
�hD c3O 
  �E 0	 �� 
����  >B 
���� ��   ��4� �� �J 
  >�x�� �- $���� 1�� ����� ���� :  

AC
tan m

BC
α = =  


'.:: 
���� 1:�f:�F �� ����� �J k�<  ��4� 13�� 1�E �� �J 
  1�� >�x�� �- ����.  

  

  
  

N���: 
����  �J 
  >�y x= +3 4   ��4� 13�� 1�E ��x�� �- �� �� 1�� ����� ��060"  ����tan =
060 3.  

  

N���: 
R��\�  ��� �J  ��,�6��A�.  

  
  

e��# :
����  ��4� 13�� 1�E �� �J ��� 
  >�x�� �-    �)� 1)�� ����� ����− =
0 0180 135 45 .       �)� �)���� �)J �)�� k�)< ������)A�

tan 045 �� ,<�� .  

m tan= =
0 2

45
2

  
  


25: 
  �E 0	 �� N�L  !�q'�� 
� >�
 
 
 − 

0

1
 $���� "1�� �J ��� >��:  

y y m(x x ) y (x ) y x y x− = − ⇒ + = − ⇒ + = ⇒ = −0 0

2 2 2
1 0 1 1

2 2 2
   

  های مثلثاتی روابط بین نسبت: درس سوم

)sin cosθ+ θ =
2 21 1   

 ����A BC
∆

  
?P�D 
���� ��C ,���8� �9: �� �� .$���� ���� ��� ��:  

  

                                     
b

cosA
c

=       �
a

sinA
c

=                     

tan mα =



 

a b a b
sin A cos A

c c c

+
+ = + =

2 2 2 2
2 2

2 2 2
   

  

  

$���� g��7���( 
�hD c3O N�L :a b c+ =
2 2 2  
W�': ��:  

C
sin A cos A

C
+ = =

2
2 2

2
1   

N���: sin cos+ =
2 0 2 015 15 1   

N���:  �%�x 
����  � ,<�� G��L >�cosx=
4

5
 ",<��sinx ,����� ��.  

e��# :��  $�:��cos x sin x+ =
2 2 1 ������A�:  

sin x sin x sinx+ = ⇒ = − = ⇒ =
2 216 16 9 3

1 1
25 25 25 5

   

 

 

sin
) tan

cos

θ
θ =

θ
2   

���� 
2��� ��� 0���	 1�� 
� >���  ���$���� ,���8� �9: �� ��:  

a a
sin

sin ac c tan
bb cos b

cos
cc

θ =
θ

⇒ = = = θ
θ

θ =

         

  

  

  


W�'::  

 
cos

cot
tan sin

θ
θ = =

θ θ

1
  

N���:  �%�sinx=
4

5
  �cosx=

3

5
 $���� ",<��:  

sinx
tan x

cosx
= = =

4
45

3 3

5

   

N���:  $�:�,� �%�tan x= 3 !��3@ ;/�L "
sinx cosx

cosx sinx

+

−

2 3

5 4
 ,���	 1�� 
� ��.  

e��# : 
  �E 0	 ��
sinx

tan x
cosx

=  �� �� !��3@ r��� � !��/ "1��cosx �� $�65F $�A :  

sinx cosx

tan xcosx cosx
cosx sinx tan x

cosx cosx

+
+ ×

= =
−

−

2 3
2 3 2 3

5 45 4

+

− ×

6

3

5 4 3
= =−
−

12

9 9

7 7
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) tan (cos )
cos

+ θ= θ≠
θ

2

2

1
3 1 0   

 
2��� �?  
�
sin

tan
cos

θ
θ =

θ
 $���� :  

  

 
sin cos sin

tan
cos cos cos

θ θ + θ
+ θ = + = =

θ θ θ

2 2 2
2

2 2 2

1
1 1  

) cot (sin )
sin

+ θ= θ≠
θ

2

2

1
4 1 0   

 
2��� �?  
�
cos

cot
sin

θ
θ =

θ
 $���� :  

  

 
cos sin cos

cot
sin sin sin

θ θ+ θ
+ θ = + = =

θ θ θ

2 2 2
2

2 2 2

1
1 1  


E�F:  �� ���- >��6F>�- j��  �- >��� 
� 
 θ �� �F����� ��4F� �� "1�� ���D�� G���?-$���: .



 

  

  N���   
  

  

1- �� ���� >�- ��� 136: �F����� ���� �9: �� 
3��4� ,�A .  

tan ,sin ?θ θ =
      

 )[R�  

  

)k6L�� k   (    cos ,cot ?α α =       )i                     

 

e��#:  

[R�(  

                      

AB

sin , tan

= − = =

θ= = θ= =

400 256 144 12

16 4 16 4

20 5 12 3

  

i(   

                           

 

AB k (k ) k k k (k ) k

k k
cos , cot

k k

= + − = + + − = + = +

− −
α = α =

+

2 2 2 2 4 2 2 2 2

2 2

2

4 1 4 1 2 1 1

1 1

1 2
  

  

2- �%� α �� 
���� > ,AF ",<�� �� �- ���� ���� 136: >�- �F����� α �� ,�����.  

[R�( sinα =
1

5
  

i( cosα =
1

5
  

r( tanα =
1

5
  

e��#:  [R�(   

sin cos cos sin cos

sin
tan tan

cos

cot cot
tan

α+ α = ⇒ α= − α⇒ α= − =

α
α = ⇒ α= = =

α

α = ⇒ α= =
α

2 2 2 2 1 2 6
1 1 1

25 5

1
1 65

122 6 2 6

5

1 12
2 6

6

  

  

  

  

i(   
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sin

tan

cot

α = − =

α =

α = =

1 2 6
1

25 5

2 6

1 6

122 6

  

r(  

cot
tan

α = =
α

1
5  

sin sin
tan cos sin

cos cos

sin cos sin sin sin

sin sin cos

α α
α = ⇒ = ⇒ α= α

α α

α+ α = ⇒ α+ α = ⇒ α=

⇒ α= ⇒ α= = ⇒ α=

2 2 2 2 2

2

1
5

5

1 25 1 26 1

1 1 26 5 26

26 26 2626

  

3- �%� tan x= 3" 0	 G�% ��,5� !��3@ 
sin x cos x

sin x cos x

+

−

2 3

2 3
 �� ,�����.  

e��#:   

tan x sin x cos x

sin x cos x ( cos x) cos x cos x

sin x cos x ( cos x) cos x cos x

= ⇒ =

+ +
= = =

− −

3 3

2 3 2 3 3 9
3

2 3 2 3 3 3

  

  

4- 0�
: ,�-�:  

tan
sin

tan

θ
θ =

+ θ

2
2

21
  

e��#:   

sin

tan cos sin
tan

cos

θ

θ θ= = θ
+ θ

θ

2

2 2
2

2

2

11
  

5- �%� sin x cos x− =
1

3
 0	 G�% ��,5� !��3@ sin x.cos x �� 
� 1�� ,���	.  

e��#:   

(sin x cos x)

sin x cos x sin cos x sin x.cos x

sin x.cos x sin x.cos x

− =

⇒ + − = ⇒ − =

⇒ = ⇒ =

2

2 2

1

9

1 1
2 1 2

9 9

8 4
2

9 9

  

  

  



 

  

6- �� ;.< ���" 136:tan b
� tan a �� 
� 1�� ,���	.  

  

  

  

  

  

e��#:   

tan a x
tan b

x
tan b tan a x

x

=

⇒ =
= +

+

2
2

1

1
1

  

7- �� 
25: > A
 
 =
 
 

2

1
 �� 
���� > 030 136: 
� ��4� x" 6 ,L�� 1 �L �� $�A  �F 
� 
25: > B $����.  !�)q'��  
)25: > B �� 

,�����.  

  
e��#:   

BC
sin BC

AC
cos AC

B

= ⇒ = × =

= ⇒ = × =

   + +   = =
   +   

0

0

1
30 6 3

6 2

3
30 6 3 3

6 2

2 3 3 2 3 3

1 3 4

  

8- 1��t ,�A  �%� <θ<
0 030 60 ",<�� 0	 G�% >������: 

cos
sin cos

θ
< θ< θ3

3
 ���D�� 1��.  

e��#:   

tan tan tan

sin cos
tan sin cos

cos

< θ<

θ θ
< θ< ⇒ < < ⇒ < θ< θ

θ

0 030 60

3 1
3 3 3

3 3 3  

9 - ��,5� !��3@   
sin cos tan

cos tan

−

−

0 0 2 0

0 0

30 60 45

30 45
  �� 
� 1�� ,���	.  

e��#:   

( ) ( )

−
× −

− −
= = =

− − −
−

1 1 3
1

6 32 2 4

3 3 2 4 3 2 2 3 2
1

2 2
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 ���?.F ����	  

 کاربردهایی از مثلثات 

[R� (Z�A�6  0�:�D �-  

��� 0�:�D ��� �:�� u� 
���� � C�� �� ����� �� 
  ,-� 0	 ��� > �� 0�:�D ��� �?  
� ,<�� X��\� �- 
� �� X�� C�� 0��F  1��

���	.  

  

  

  

  
  

 �%�
����A  C�� �� �c, b <�� v�
�A,$���� G�8:	 ":  

ˆa b c bccos A= + −
2 2 2 2  


'.::  �%� w�J 1R�L ��Â= 090 $���� !��/ ��� �� ,<�� :  

a b c bccos a b c= + − ⇒ = +
2 2 2 0 2 2 2

0

2 90�������  

�� 
W�': �� Z��7���( 
2��� 0�?- 
 ,-�.  

 �%�
����B  � C�� ��c,a <�� v�
�A,$���� G�8:	 ":  

ˆb a c accos B= + −
2 2 2 2  

 �%�
����C  C�� �� �b,a <�� v�
�A, "$���� G�8:	:  

ˆc a b abcos C= + −
2 2 2 2  

N���:  k�F�F 
� ���� C�� �� �%�3  �2  �0	 ��� 
���� �-°60 ,<��" ,����� �� ���� ��4�.  

  

  

  

  

  

e��#:  

x ( )( ) cos= + − °
2 2 22 3 2 2 3 60  

  

x ( )= + − × =
2 1

4 9 12 7
2

  

x= 7  

2 3 7 5 7= + + = + ���� ��4�  

  


'.:: Z�A�6  0�:�D �?  
� $���� �-:  

ˆˆBC ABcos B ACcosC= +  

  
  

  



 

i (Z�A�� 0�:�D �-  

�� u� �:��� 0�:�D ��� 
���� �� 
  ,-�  ,<�� X��\� C�� �� � .�� �� �8�� C�� �� 0	 �?  
� $����.  

  

  

  

  
  

  

a b c

ˆ ˆ ˆsin Bsin A sin C
= =

  

  

  

N���:  ����� ��a= 3  �B̂= °60  �Ĉ= °45 ,����� �� ��4�.  

ˆ ˆ ˆˆA B C A+ + = ° ⇒ = °180 75  

b

a b c b c / /

csin A sin B sin C sin sin sin

/ /


 =
= = ⇒ = = 
° ° ° =


3

3 0 97 0 87

375 60 45

0 97 0 71

  

b / , c /⇒ = =2 7 2 2  

/ / /= + + =2 7 2 2 2 7 9 ��4�  

  


'.:: Z�A�� 0�:�D �?  
� $���� �-:  
  

  

ABC
ˆ ˆˆS acsin B absin C bcsin A= = =

1 1 1

2 2 2
 1L�6�  
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   ���?F  

1. 136: ��� >�- 
���� �F��A  ;.< ����� ,����� ��.  

  
  

2.x1�� �,5B ���� y2� �� z������ ���F�� ��� ;.< ��  

  

  
3.;.< �� �� �- �� ,���	 1�� 
� �� N��W� ���� N�O ��� >�-.  

  

  

  

[R�  (                                          i  (  

  

4.
R��\�  13�� 1�E �� 
  ,�6��A� �� �2J > ��4�x 
���� "�-45 
25: �� � ���6� 
E��  >A( , )−2 4 ��Y8�.  
  

5.  �%�tanθ = 2  ",<��sinθ  �cosθ ,����� ��.  
  

6.!��3@ ;/�L,����� �� ��� >�-. 

  

cos sin

tan cos

−

+

2 0 0

0 2

2 30 2 30

2 45 3 60
 )[R�  

cos sin tan

tan cos

+ −

−

2 0 2 0 0

0 0

30 2 30 45

45 60
)i  

sin cos

tan tan

+

+

0 0

0 0

30 30

45 60
)r 

  

7. ����5� "��� ;.< ��cos ,sinθ α 
� �� ,���	 1��.  

  

  
  



 

  

  
  

  

8. ;.< 
� 
E�F ����� >�,@ ��,5� "x y z+ + 
� ��,���	 1��.  

  
  

9. !��3@ >�,@ ��,5�
tan tan

tan tan

−

+

0 0

0 0

60 30

1 60 30
 16�Bx  

10.x1�� 1����: X�,  � 1��� >��6F X�,   

[R�( sin sin( )0 02 30 2 30= ×    

i (sin sin sin( )+ = +
0 0 0 030 60 30 60  

r (cos sin=
0 020 70    

� (sin cos+ =
0 030 30 1  

11.G,< G���  !��3@ >cos ( tan )θ + θ
2 22,����� ��.  

  

  

12. N�O 
� �:����:8 J ���� >�� 
  �'��� 
�.F ��?@ >����� 
� �� 1�� G,< G,:���� $�-� .
����  ���� � 0����: ��� >030  G,<

1�� .�� ����� �� �'� ,AB ���F�� 
� 0����: x,��  

13.136: ��� 
���QR� $P�D ���� ��G��L 
���� �F����� >�-θ ,�A  �,�# ��.  

  

  

  

14.�� ��  
���QR� $P�D ����sin
2

5
θ = 1�� . ����� �F� N�O �%�10  ",<��cos θ  �tan θ ,���	 1�� 
� ��.  

15.�%�θ � G��L 
����cos
1

4
θ =  ",<��136: �����F����� >�-θ ,�A  �,�# ��. 

16. 
���� �� �� �- >�-030− "0270− "0225  �0120 ,�-� 0�
: �F����� G���� >�� ��.  

17.!��3@ ;/�L,�# �� ��� >�-,�A  �.  

[R� (sin cos sin cos30 60 60 30+
� � � �   

i (tan cot sin sin cos2 237 37 90 40 40× − + +
� � � � �               

r ((cos cot ) tan sin2 2 245 60 60 30÷ − ×
� � � �   

  

18. ���� ��ABC $����a 5= �c 4= �sin B
2 6

5
= .C�� N�Ob �sin C ,���	 1�� 
� ��. 

19.  !��3@ >�,@ ��,5�sin cos tan tan− +
0 0 0 2 04 60 30 3 45 60 x16�B  

20. !��3@ G,< G��� 
cos

tan
sin1

θ
θ+
+ θ

 ,����� ��. 
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21.�%� "��� ;.< ��tan pθ =  ��,5� ",<��Cosα k6L �� p ,����� ��.  

  
  

22.
���QR� $P�D ���� ��ABC )B̂ 90=
�($���� "tan C 2= �BC 4= .��,5�sin C  �����x16�B 

23. ;/�L
sin cos

tan cos

0 0

0 0

35 45

60 55
 ,����� ��. 

24.  �%�sin θ =
1

5
  �θ 
���� 0	 ",<�� G��L >�  G�%cos θ x1�� �,5B  

25. 
���QR� $P�D ���� ��ABC N�O "���CD 	 1�� 
� ��,���.  

  

  

  

  
  

  

26. x1�� 1����: X�,  � 1��� >��6F X�,   

[R� (sin sin=
0 060 2 30   

i (sin sin− =
2 0 2 060 30 1   

r (tan tan=
0 060 2 30   

� (sin cos sin cos+ = +
2 0 2 0 2 0 2 030 30 40 40   

27.  ��,5�
cos

sin

0

0

15

75
 x16�B  

  

28.  $�:�,� �%�θ 
����  � 1�� G��L >�sin /θ =0 6 ��,5� "tan θx16�B  

29. ���F�� �� �?�#��- ��6 �� 1 �L G�%���( �� 13D��� r�� 1?� 
� �'����  ,A  .
�/�( ;.< 
� 
E�F ��   r�)� �� �?�#��- ��� >

 >��� 
� 13D���θ =
030 Bx1�� �,5  

  

  

  
  

  

  

30. ,�A  �,�# �� ��� ���� 1L�6� .  

  

  

  

31. G��Q% �'����: �� �'���,�A  ���\F �� ��� >�- .  

[R� (sin cos25 25>
� �  

i (sin cos30 60 1+ =
� �  

r ( G��L 
���� >��� �%�θ  $�<�� 
'<��sin 0θ = 0	 
  1�� y��� G�%cos 1θ = ,<�� ��.  



 

� (�%�90θ+α =
� 0	 G�%sin cosα = θ.  

32.  ,�-� 0�
:
tan x

cos x sin x
tan x

2
2 2

2

1

1

−
= −

+
.  

33. �Jx y− =6 2 3 5  ��4� 13�� 1�E ��x
���� 
B �- �� >� x����  

34. !��3@ >�,@ ��,5�cos sin cos− −
4 0 4 0 2 020 20 2 20 ,����� ��. 

35.
���� Z�A��  �J 
  >�x y− =3 3 5  ��4� 13�� 1�E ��x�� �- ,����� �� ����.  

36.  �%�tan θ = 50	 "  �6  ��,5� G�%
sin cos

sin cos

θ+ θ

θ− θ

2 4

2 4
 x16�B  

37.  �%�x ��R� 
���� �� !��3@ G,< G��� ,<�� G�(sin x cosx)−
2 ,����� ��.  

38. �%�
sinx cosx

sinx cosx

+
=

−

3

2
 ��,5� "tan x x1�� �,5B  

39. !��3@ ;/�L
sin sin sin sin

cos cos cos cos

0 0 0 0

0 0 0 0

2 10 20 30 40

3 50 60 70 80
  ,����� ��.  

40. !��3@ ;/�L(sinx cos x) (sinx cos x)− + +
2 2 ,����� ��. 

41.�� ���� $P�D QR�
��� (A )ABC
∆

=
090" AH ���F�� 1��. 1��t ,�A :  

AB BH.BC=
2  
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47. �%�tan x cot x− = 2 0	 ,5� G�8% !��3@ ��tan x cot x+
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50.�%� x r cos cos= α θ" z r sin , y r cos sin= α = α θ " ;/�L x y z+ +
2 2 2
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